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1
In the diagram below of [image: image1.png]MABC



, D, E, and F are the midpoints of [image: image2.png]AB



, [image: image3.png]BC



, and [image: image4.png]cA



, respectively.

[image: image5.png]



What is the ratio of the area of [image: image6.png]MNCOFE



 to the area of [image: image7.png]MNCAB



?

	1)
	1:1

	2)
	1:2

	3)
	1:3

	4)
	1:4



2
The area of [image: image8.png]ATAP



 is 36 cm2.  A second triangle, JOE, is formed by connecting the midpoints of each side of [image: image9.png]ATAP



.  What is the area of [image: image10.png]MNTOR



, in square centimeters?

	1)
	9

	2)
	12

	3)
	18

	4)
	27



3
In the diagram below, the vertices of [image: image11.png]MNDER



 are the midpoints of the sides of equilateral triangle ABC, and the perimeter of [image: image12.png]MABC



 is 36 cm.

[image: image13.png]



What is the length, in centimeters, of [image: image14.png]s



?

	1)
	6

	2)
	12

	3)
	18

	4)
	4



4
In isosceles triangle RST shown below, [image: image15.png]


, M and N are midpoints of [image: image16.png]


 and [image: image17.png]RT



, respectively, and [image: image18.png]


 is drawn.  If [image: image19.png]MN = 3.5



 and the perimeter of [image: image20.png]


 is 25, determine and state the length of [image: image21.png]NT



.

[image: image22.png]




5
In the diagram below of [image: image23.png]MABC



, [image: image24.png]DE



 is a midsegment of [image: image25.png]MABC



, [image: image26.png]


, [image: image27.png]


, and [image: image28.png]


.  Find the perimeter of [image: image29.png]MABC



.

[image: image30.png]




6
In the diagram of [image: image31.png]MABC



 below, [image: image32.png]


, [image: image33.png]


, and [image: image34.png]16



.  Find the perimeter of the triangle formed by connecting the midpoints of the sides of [image: image35.png]MABC



.

[image: image36.png]16





7
In the diagram of equilateral triangle ABC shown below, E and F are the midpoints of [image: image37.png]AC



 and [image: image38.png]BC



, respectively.

[image: image39.png]



If [image: image40.png]


 and [image: image41.png]


, what is the perimeter of trapezoid ABFE?

	1)
	36

	2)
	60

	3)
	100

	4)
	120



8
In the diagram below of [image: image42.png]MNACT



, D is the midpoint of [image: image43.png]AC



, O is the midpoint of [image: image44.png]AT



, and G is the midpoint of [image: image45.png]


.

[image: image46.png]



If [image: image47.png]10



, [image: image48.png]


, and [image: image49.png]


, what is the perimeter of parallelogram CDOG?

	1)
	21

	2)
	25

	3)
	32

	4)
	40



9
In the diagram of [image: image50.png]MABC



 shown below, D is the midpoint of [image: image51.png]AB



, E is the midpoint of [image: image52.png]BC



, and F is the midpoint of [image: image53.png]AC



.

[image: image54.png]



If [image: image55.png]


, [image: image56.png]


, and [image: image57.png]16



, what is the perimeter of trapezoid ABEF?

	1)
	24

	2)
	36

	3)
	40

	4)
	44



10
In [image: image58.png]MABC



 shown below, L is the midpoint of [image: image59.png]BC



, M is the midpoint of [image: image60.png]AB



, and N is the midpoint of [image: image61.png]AC



.

[image: image62.png]



If [image: image63.png]


, [image: image64.png]ML



, and [image: image65.png]


, the perimeter of trapezoid BMNC is

	1)
	35

	2)
	31

	3)
	28

	4)
	26



11
As shown in the diagram below, M, R, and T are midpoints of the sides of [image: image66.png]MABC



.

[image: image67.png]



If [image: image68.png]


, [image: image69.png]14



, and [image: image70.png]


, what is the perimeter of quadrilateral ACRM?

	1)
	35

	2)
	32

	3)
	24

	4)
	21



12
In the diagram below, [image: image71.png]DE



, [image: image72.png]DF



, and [image: image73.png]s



 are midsegments of [image: image74.png]MABC



.

[image: image75.png]



The perimeter of quadrilateral ADEF is equivalent to

	1)
	[image: image76.png]AB+ BC+ AC





	2)
	[image: image77.png]1 1
74B+34C





	3)
	[image: image78.png]2AB + 2AC





	4)
	[image: image79.png]AB+ AC







13
In the diagram below of [image: image80.png]MABC



, [image: image81.png]DE



 and [image: image82.png]DF



 are midsegments.

[image: image83.png]F

(Not drawn to scale)




If [image: image84.png]


, and [image: image85.png]


, determine and state the perimeter of quadrilateral FDEC.

14
In the diagram below of [image: image86.png]MABC



, D is the midpoint of [image: image87.png]AB



, and E is the midpoint of [image: image88.png]BC



.

[image: image89.png]4x + 10




If [image: image90.png]4x+ 10



, which expression represents DE?

	1)
	[image: image91.png]x+ 2.5





	2)
	[image: image92.png]2x+5





	3)
	[image: image93.png]2x+ 10





	4)
	[image: image94.png]8x+ 20







15
In [image: image95.png]MABC



, D is the midpoint of [image: image96.png]AB



 and E is the midpoint of [image: image97.png]BC



.  If [image: image98.png]3x-15



 and [image: image99.png]


, what is the value of x?

[image: image100.png]



	1)
	6

	2)
	7

	3)
	9

	4)
	12



16
In the diagram of [image: image101.png]


 below, A is the midpoint of [image: image102.png]


, B is the midpoint of [image: image103.png]


, C is the midpoint of [image: image104.png]


, and [image: image105.png]AB



 and [image: image106.png]AC



 are drawn.

[image: image107.png]



If [image: image108.png]VW="Tx-3



 and [image: image109.png]


, what is the length of [image: image110.png]Ve



?

	1)
	5

	2)
	13

	3)
	16

	4)
	32



17
In quadrilateral ABCD below, [image: image111.png]AB| CD



, and E, H, and F are the midpoints of [image: image112.png]AD



, [image: image113.png]AC



, and [image: image114.png]BC



, respectively.

[image: image115.png]



If [image: image116.png]


, [image: image117.png]18



, and [image: image118.png]10



, then FH is

	1)
	9

	2)
	10

	3)
	12

	4)
	21



18
In [image: image119.png]MABC



, M is the midpoint of [image: image120.png]AB



 and N is the midpoint of [image: image121.png]AC



.  If [image: image122.png]MW =x+ 13



 and [image: image123.png]


, what is the length of [image: image124.png]


?

	1)
	3.5

	2)
	9

	3)
	16.5

	4)
	22



19
Triangle ABC is shown in the diagram below.

[image: image125.png]



If [image: image126.png]DE



 joins the midpoints of [image: image127.png]ADC



 and [image: image128.png]AEB



, which statement is not true?

	1)
	[image: image129.png]DE

1
5CB





	2)
	[image: image130.png]DE || CB





	3)
	[image: image131.png]




	4)
	[image: image132.png]MABC ~ ANARD







20
In the diagram below, [image: image133.png]DE



 joins the midpoints of two sides of [image: image134.png]MABC



.

[image: image135.png]



Which statement is not true?

	1)
	[image: image136.png]cE

1
3B





	2)
	[image: image137.png]DE

1
748





	3)
	area of [image: image138.png]ACDE=



 area of [image: image139.png]MNCAB





	4)
	perimeter of [image: image140.png]ACDE=



 perimeter of [image: image141.png]MNCAB







21
On the set of axes below, graph and label [image: image142.png]MNDER



 with vertices at [image: image143.png]


, [image: image144.png]E(-2,2)



, and [image: image145.png]


.  If G is the midpoint of [image: image146.png]s



 and H is the midpoint of [image: image147.png]DF



, state the coordinates of G and H and label each point on your graph.  Explain why [image: image148.png]GH || DE



.

[image: image149.png]




22
Triangle HKL has vertices [image: image150.png]H(=7,2)



, [image: image151.png]


, and [image: image152.png]


.  The midpoint of [image: image153.png]373



 is M and the midpoint of [image: image154.png]LE



 is N.  Determine and state the coordinates of points M and N.  Justify the statement: [image: image155.png]


 is parallel to [image: image156.png]HE



.  [The use of the set of axes below is optional.]



[image: image157.png]
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4
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[image: image158.png]



REF:
012321geo

3
ANS:
1

[image: image159.png]



REF:
081003ge

4
ANS:


[image: image160.png]2x+7=125
=18




  [image: image161.png]



REF:
081531ge

5
ANS:


37.  Since [image: image162.png]DE



 is a midsegment, [image: image163.png]14



.  [image: image164.png]



REF:
061030ge

6
ANS:


20.  The sides of the triangle formed by connecting the midpoints are half the sides of the original triangle.  [image: image165.png]S5+7+8=20



.  [image: image166.png]



REF:
060929ge

7
ANS:
3

[image: image167.png]2ix+8)=Tx-2
4x+16=Tx-2
18=3x

f=x



    [image: image168.png]


.  Since [image: image169.png]s



 is a midsegment, [image: image170.png]


.  Since [image: image171.png]MABC



 is equilateral, [image: image172.png]AE:BF:%:ZU



.  [image: image173.png]40+ 20+ 20 + 21

100




REF:
061923geo
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[image: image174.png]



REF:
080920ge
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[image: image175.png]20+ 8+ 10+




.  [image: image176.png]
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[image: image177.png]
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[image: image178.png]


[image: image179.png]T+7+5+7+9=35




REF:
011611ge
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ANS:


[image: image180.png](Not drawn to scale)



  [image: image181.png]85+9+85+9=35




REF:
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14
ANS:
2

[image: image182.png]4x+10 _
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011103ge
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[image: image183.png]3x—15= 2(6)
=27
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[image: image184.png]1
Fx%U=12




REF:
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[image: image185.png]Hx+13)= 52—
2426 = 51—

7=

x=9



  [image: image186.png]MN=9+13=22
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[image: image188.png]


.  [image: image189.png]


.  [image: image190.png]


 is a midsegment.  [image: image191.png]



REF:
011237ge

